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Let U denote the set of all members of the House of Representatives. Let
R={xeU|xisa Republican} - ‘
M={xe U | xis a male}

L={xe U | x is a lawyer}
Describe each of the following sets in words.

7 MUL Mempers of the HoR who ave male or a lawyev”

. ROMOL® members of Yne B R whip are repuslican males but
9. (RUM)C n°+ l&w\lcrs'
Members of the HoR w
10.RNL {' . d
Members 0v the HeR  who ave fepuwilitan and 4 \awyev.

Let A and B be subsets of a universal set U and suppose n(U) = 120, n(A) = 70, n(B) = 40, and
n(A N B) = 30' T .

11. Draw a Venn Diagram representing these sets and fill it in with the correct num_bers.

ho are neivher epublicandm nov male.

12. Find n(A UB). 10

13. Find n(A N BY). 4o

There are 80 homes in a subdivision. A realtor tells you that 50 of the home§"li§i§é vinyl siding, 20
of the homes have automatic sprinkler systems, and 25 of the homes have neither.
go —25 = 55 o
14. How many of the homes have both vinyl siding and an automat&séjnnkler system?

55 = 504 20 - n (VNA)
15. How many of the homes have vinyl siding, but no automatic6 g)rin‘kéer systm;@

i i f 100 inhabitants is taken with the
Tod i hich restaurants are liked in Plattsburgh, a survey o I ; !
fo(l,lovevti‘:lrgn:-l:si;:s lcSiyz'ty-two liked Burger World, 47 liked Steak Palace, 32 liked Chicken Castle, 17 liked

Chicken Castle and Burger World, 20 liked Burger World and Steak Palace, 12 liked Steak Palace and
Chicken Castle, and 5 liked all three restaurants.

16. How many liked Burger World and neither of the other two restaurantfa? 5

17. How many did not like Chicken Castle? M (§ @A
d 3

Lba -32 ;
18. How many liked none of the three restaurants 3 ¥




